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(Twelve Adamantium Strings)

Logan's Birth
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for Logan


















 



      







       
3


0
2
2
0
0
0




0
2
2
0
0
0




0
2
3
2



 2 3 2
3

2
0

 0
2
2
0
0
0




0 0
2

2
0

0
0 0 2

6









      



              

3 3
3


0

3 5 3 5

0
2
3
2



 2 3 5 3 5 3 2 0
3 0 3 0

2 0
2 0 2 0

2 0
3 2 0

10




 


   




    


    
   





0

0
0

0

0

0
0
0

0

0
0

0
0

0

2 0
3

2 0
0

0

0

0
0
0

14




    


   


    




    


    
   





0

0
0

0
0

0

3 5
0

5
0

0
0

0

0

0
0
0

0

0
0

0
0

0

2 0
3

2 0
0

0

0

0
0
0



18










    


               



       


0

0
0

0
0

0

3 5
0

5
3 0

3 0
2 0

2 0
2 0

3 0

0

0

3 0
3 5

0

0
5

0

22





       

  


       


          


0

3 0
3 5

0

0

0
5

0

5
0

5

7
0

7

3
0

4

5
0

0

5

7
0

7

3 0
3 5

0

0
5

0

26





       

  


   
   


    


 


 


0

3 0
3 5

0

0

0
5

0

5
0

5

7
0

7

8
0

9

3
0

0

4

5
0

5

3

0
0

0

0
0

30




 
    

       


       



 


 

 0

0 2

2
3
2 0

0
2

3 1
0

3
2

0

0
3

3

1 0

0
0
3

0
0

2
0

0

3

0
0

0

0
0

34





  


 


     


  

 
   

 
 



  

 0

5

5
5

0

5
5

2

0
2

1
2

2

0
2

1

0 2
0

0
2

0 2
1

0

0
2 3

0 0

0
3

0
0

0
0

2



38




    

      


       
   


 


 

 0

3
0 2

2
3
2 0

0
3

2
3

0
3 1 0

3

2
0

0

0
3

3

0
0

3 0

0
0 3

3

0
0

0

0

0

42








 

 
 

 







       

    




  

 0

5

5
5

0
8

5

5

7 5

8

0

7

0

0
2

5

0

0

0 2
0
2

1
2

0

0
2

0
5 7

0

7 0

0
0

46



  
    

 
  

 




  






 


 





  





  


3

3
0 2

0
1

0

3
1

0

5 7

0

7 0

0
0

3
2
0
0
0
3

3
2
0
0
0
3

3
2
0
0
0
3

2
1
2
0
2

0
2
1
2
0
2

2
1
2
0
2

2
1
2
0
2 5 7

0

7 0

0
0

50



  
    

 
  

 




  






 


 








 












3

3
0 2

0
1

0

3
1

0

5 7

0

7 0

0
0

3
2
0
0
0
3

3
2
0
0
0
3

3
2
0
0
0
3

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

0
2
2
1
0

0
2
2
1
0

0
2
2
1
0

0
2
2
1
0

0
2
2
1
0

0
2
2
1
0

54





 


 











 


 









 


 











 



    


0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

3
0

5
0

5
0

5
0

3



58











 


 











 


 









 


 











 



    


0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

3
0

5
0

5
0

5
0

62





            



 

 
    


  


0

3 0
3 0

2 0
2 0

2 0
3 0 0

7

0
0

0 0

7
0

7 5 3

0

0
0

0

66








   

     
 
   

             

 3

3

0
1

3 3

3

0

3 0
1 3

3
0

0
1

0

0 2

2
3

0 0
2

3
2 3 2

3
0

2
3

0

70





   

   
    


   


 

 
    


  

 0

2
1
0

2
2

0

1
0

0
0
0

0
2

2
0

0

0
0

0
7

0
0

0 0

7
0

7 5 3

0

0
0

0

74








   

     
 
   

             

 3

3

0
1

3 3

3

0

3 0
1 3

3
0

0
1

0

0 2

2
3
2

0 0
2

3
2 3 2

3
0

2
3

0

4



78





   


  

     
            

 0

5
5
5

5
5
5

0
3

0 0
0
0

0
2

2
0

0
3

3

1

2
0

1
0

3

1
0

1 3
0 3 0

1

82










           

    

 










 






 0
0

2
3
0 2

0 0
2

3
2 2 3 2

3
0

0
0

2
3

0

5
5
5

5
5
5

0

5
5
7

0

5

12

0
0

0

12
0

86






  
 
    




 
  

 





 

        


0

12 10 7

0

0
0

7 7 5

0

5

0
8

7 5 0

7 5

8

0

7

0

0
3

5

0

0

0
1
3

2
0

1
3

1

90











 





  


















 









 




 











0

5 7

0

7

0

0

0
0

3
3
5
4
5
3

3
3
5
4
5
3

3
3
5
4
5
3

2
2
4
2
4
2

2
2
4
2
4
2

2
2
4
2
4
2

2
2
4
2
4
2

0
0
2
2
1
0

0
0
2
2
1
0

0
0
2
2
1
0

0
0
2
2
1
0

0
0
2
2
1
0

0
0
2
2
1
0

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

2
1
2
0
2

94





 












 












  


 











 


 









 3
2
0
1
3

3
2
0
1
3

3
2
0
1
3

3
2
0
1
3

3
2
0
1
3

3
2
0
1
3

0
0
2
3
5

0
0
2
3
5

0
0
2
3
5

0
0
2
3
5

0
0
2
3
5

0
0
2
3
5

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
0
2
0
1

0
0
2
0
1

0
0
2
0
1

0
0
2
0
1

5



98





  


 











 



    


  


 











 


 










0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

3
0

5
0

5
0

5
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
0
2
0
1

0
0
2
0
1

0
0
2
0
1

0
0
2
0
1

102





  


 











 



    


 


 











 


 









0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

0
2
0
1
0
0

3
0

5
0

5
0

5
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

106





 


 











 



    


 


 











 


 









0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

3
0

5
0

5
0

5
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

110





 


 











 






               












0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0
2
2
0
0
0

0

3
0

5
0

5
0

5
0 3 0

3 0
2 0

2 0
2 0

3
0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
3

114
































































 0
0
2
3
2

0
0
2
3
0

0
0
2
3
2

0
0
2
3
3

0
0
2
3
2

0
0
2
3
0

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
2

0
0
2
3
3

0
0
2
3
2

0
0
2
3
0

0
0
2
3
2

0
0
2
3
3

0
0
2
3
2

0
0
2
3
0

0
2
2
0
0
0




0
2
2
0
0
0

late 20006


